4368 +6 =728 = 43.68+6=7.28

[]

1350 +6 =225 = 13.5+6



2. S F .8 AN AT T AL ol AU
2x8 5 2 1
— 8 — —
@258 @2>< ®5><8
@ 2x5 ® 2x8

5 1 5 x






=
=
™

=~

2
#7F 15 mSl gAY

mAY7H?

7kl Qgsuth. ol Az el ¢ v



2 _
12ke A2l A9 712 4 B A7} ey, o

sAole 7] BHE R Ao 1 A o

A= AEU7H

2 10
o Yo
1=k 1=k
@ 15 ke © 15 ke

)



b= AMER Z7]5e Hedls o
TEAL.

6.

@ ¥ Lmoo

LT X

B

G H ooy

@ Hroeno



, BAE, B3 et 2" AL o=

5o W

1—7]

Z!

oln

o

7.

® (3)- 87

@ (2) - 1271

@ (1) - 770

® (5)- 87

@ (4) - 147



o5 Ao | e

8.

20 x

B

=243

©

lo
H

B

G Houixo

@ W =znoox



of S
o}

B
al

1

B
BH



1

15:2=7-
@ 15:2 5



11.

shst A1zl 2L 9] 4

oA ‘/}—rcﬂ
Dﬂ 1,9l 1/] 7]].‘)

ol ol o lrp ® L

=2 8 7] HA ol FZo]
FHIL g 1 7]e] vA "7l

1

48 24 16

i‘>



12, th AAEE A215S BEYS 1), 2A= ] Polo]
QL74?

S ER
= cm



oju

—~
__o.._

97h A

1
.

@ A
427159 =
A



14.

25 15708 T ARl A Takgol AU W Al B
A7t 0.1kgol ek, SEA @ A2] AL oF B kgl M stol
g A AR FERALL. (066 — o 0.7)

a’-—*i‘l‘f kg



15. HESHESZ

o
Ml
v
i)
=
sl
rlo
9,
in
L,
iR
i
N
D

@ 05> 50% @ 0.186 — 18.6 %
® 0.502 - 50.2% @ 20.7 - 20.7%

3 1.026 — 102.6 %



16. o= 5 49

D 103.8%
@ 15:6



17. 7=5, =42 L o, & 48] g AL,




=
=

o 7

2
T

Ql Zhm

o] 19 A

o] o] 20 ! ZH71%59] o] A2}
BEER

of 59t mA 9]
FECEDEREERE

&

SHA 2.

prLA
=
5
=
_—[L

Yk
=%



® 27715

@ A%



20. 3A17te] 90.3kmE Bal= 7127t 5Uth o] 7| Be e
12A7F Set 2ty B km o] A=E 7HIEA] oA 2.

a ch: km



